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1) 13/2 + 11/12

Answer:

2) 30+ 10

Answer:

3) Find area of square
having each side (s)
equals50 m

Answer:

4)  Convert the following improper
fraction 4%/, + 61/, into a mixed
number

Answer:

5) $367.00 earning 3.9% compound
interest for 10 years.

Answer:

6) Factorise 9f2 + 24f + 12

Answer:

7) Round 6.821 to 2 decimal places.

8) (-18) x 25

9) Find the percentage change from 12 to
24

Answer: Answer: Answer:
10) (n16)18 11) 12)  Simplify 13:5
20 J Find Volume of Cone
S —
20
Answer: Answer: Answer:

13)
Find the next three numbersin

the sequence
8,10,20,22,44,46,92_, ,

Answer:

14)  Anamount was decreased by 7% to
$101.00. Find the original amount.

Answer:

15) Find the range of the following set of data:

4,0,2,1,2,8,05

Answer:
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Find the next three numbersin
the sequence
8,6,12,10,20,18,36_ , ,

Answer:

16) Find the median of the following set of data: 17) 18) Find the range of the following set of data:
13,29 \ 10,2,0
Name the type of angle.
Answer: Answer: Answer:
19) 245+17.8 20)

Total: /20
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1) 7, 2)3 3) 2500m
8) 9) 100% 10) n288
15) 8 16) 21 17) Acute
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Answers:
4) 11 5) $538.05 6) (3f + 6)(f + 6) 7) 6.82
11) 2094.3951023932 12)13:5 13) 94,188,190, 14) $93.93
18) 10 19) 42.3 20) 34,68,66,
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